Play along and learn
more about important
European issues.
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Scan the QR code
or go directly to
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pPS and cup lids and cutlery.

According to scientific data,
single-use plastics represent

It is predicted that by 2050
there will be more plagh

Microplastics are plastic
particles smaller than

They end Up in surface
water and in the marine

DROUGHT

An area is in danger of drought when the soil and plants
lack water. This is the case when , ORANGE and
YELLOW together cover MORE THAN 70% of the colours

in the picture.

FIRE HAZARD

Forest fires can occur when there is a lot of vegetation
which has dried out. This is the case when the photo has
MORE THAN 409% GREEN, LESS THAN and
MORE THAN 209% YELLOW.

FLOOD DANGER

Flooding can occur when there is a lot of water present which
has no place to go because of abundant vegetation. This is the
case if the photo has MORE THAN , MORE THAN
50% GREEN, and LESS THAN

NO DANGER

If an area does not meet any of the
descriptions listed here, the area is not at risk

of natural disaster.
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SEA LEVEL Is
RISING FASTER
THAN EXPECTED

In the past 25 years, the global
average sea level rose by
3,3mm per year. This iS shown
by figures from the European
satellite programme
Copernicus.

This increased rise amounts to
a total sea level rise of about
8cm in the past 25 years.
About 30% of this can be

attributed to thermal e
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1 PASSENGER

If the weight is less than 2000kg,
the car is allowed to cross the
border.

If that is not the case, if the car
comes from Europe, count this as
2 passengers travelling in the car.

If that is not the case, the car has
to stop at the border.

If the lorry comes
it has to stop.

If that is not the case, if the lorry
has )
it has to stop.

If that is not the case, the lorry is
allowed to cross the border.

If the lorry does
, it has to stop at the border.

If that is not the case,
it is allowed to cross the border.

SHIP NORTH AMERICA

If the ship has
, it has to stop at
the border.

If that is not the case, if the ship
is carrying of
cargo, it has to stop at the border.

If that is not the case, the ship is
allowed to cross the border.

2 PASSENGERS

If the weight is less than 3000kg,
the car is allowed to cross the
border.

If that is not the case, if the car
comes from Africa, it has to stop
at the border.

If that is not the case, the car has
to stop at the border.

If the lorry does
, it has to stop.

If that is not the case, if it has

’

it has to stop.

If that is not the case, the lorry is
allowed to cross the border.

OCEANIA

If the ship has
, it has to stop at
the border.

If that is not the case, if the ship
is carrying of
cargo, it has to stop at the border.

If that is not the case, the ship is
allowed to cross the border.

SHIP SOUTH AMERICA

If the ship has
, it has to stop at
the border.

If that is not the case, if the ship
is carrying of
cargo, it has to stop at the border.

If that is not the case, the ship is
allowed to cross the border.

3 PASSENGERS

If the car weighs less than
1800kag, it has to stop at the
border.

If that is not the case, if the car
comes from Europe, it is allowed to
cross the border.

If that is not the case, the car has
to stop at the border.

If the lorry does
, it has to stop.

If that is not the case, if it has

’

it has to stop.

If that is not the case, the lorry is
allowed to cross the border.

EUROPE

If the ship has
, it has to stop at
the border.

If that is not the case, if the ship
carries of
cargo, it has to stop at the border.

If that is not the case, the ship is
allowed to cross the border.

AFRICA

If the ship has
, it has to stop at the
border.

If that is not the case, if the ship
is carrying of
cargo, it has to stop at the border.

If that is not the case, the ship is
allowed to cross the border.
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4 PASSENGERS

If the weight of the car is less than
2000kg, it has to stop at the border.

If that is not the case, if the
weight of the car is more than
4500kg it has to stop at the border.

If that is not the case, if the car
does not come from Europe, count
as 3 passengers travelling in the car.

If that is not the case, this car is
allowed to cross the border.

If the truck comes
it has to stop.

If that is not the case, if it has

)

it has to stop.

If that is not the case, the lorry is
allowed to cross the border.

If the ship has
, it has to stop at
the border.

If that is not the case, if the ship
is carrying _ of
cargo, it has to stop at the border.

If that is not the case, the ship is
allowed to cross the border.




BIODEGRADABLE PLASTICS,
RESCUE OR FAKE?

In the absence of clear
labelling Or marking of
biodegradable plastics for
consumers, and without
adequate collection and
treatment of biodegradable
waste, these plastics may
dggravate plastic leakage intg
the énvironment. Biodegradable
plastics usually degrade only
under specific conditions and
require special handling. |f
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in reqular Dlastic re
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